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B. Sc. 1st Semester (Pass Course) Examination,
November-2014

CHEMISTRY
Paper-1
Inorganic Chemistry

Time allowed : 3 hours | [Maximum marks : 30

Note : Attempt five questions in all. Question no. one is
compulsory. Selecting at least one question from

each section.
Az : g% GUE § T 597 JA0 g0, T Gid 79T Fo | 5T
. 1 gifarg 81
1. (a) Whatisthe valu‘e of ‘I’ for ‘s’-subshell ? 1x6=6
‘s’- IR B RIT ‘1 F AT FAME 7 1x6=6
(b) What is the shape of dxy.
d_ 1 o & 7
(c) Write electronic configuration of Cu*' ion.
Cu™' R &1 Fagelie fa=arg fefge
(d) Whatis the shape of Ammonia ?

STAIYET 1 TR 4T B ?
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Define Dipole moment.
faga smgel I Ry S |
What is effect of increase of temperature on the

conductivity of semiconductors ?

AT B AR GT ATHH B do B T NG B ?

Section-I
gue-1
Define Dual nature of light. Derive the De-broglie
equation. : 3,3

THIST B B T I AR o | s i
e Hifor | -~
Calculate the wavelength of the electron moving
with 2.1eV kinetic energy.

2.1eV A Foif F WY M F @ SodeE b a0
I TR HifT |
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Explain the radial probability distribution curve
for : 33

(i - 1s (i) 2s (iii) 3s
for=t & o o1t oy forereer ah &t amear #ifvie - 3,3
(i) 1s (ii) 2s (iii) 3s
Using Heisenberg uncertainity, prove that electron

cannot exist into the nucleus.
TR AR # SWEM w9 ge, fre #ite
FoFE A F AE e & T ol

Section-I1
gus-11
Using Slater’s Rule, calculate the effective nuclear
charge of : 4,2
(i) 2selectronin Scandium

(i) 3d electron in Iron

Wl & 1w #1 SN F g, e @ aeEr i

AL T TR HIT - ' 4,2
() e & 2s gRH
(i) e ¥ 3d R
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Why electron affinity of Sulphur is more than
Oxygen?
TEET Bl sﬁaa“ﬁ ST SifeRie @ ot A/ ?

Define atomic size. Why van der Waal radii is

larger than covalent radii ? 250

QAR ST Y aRI $IR | 9FeT a Brear 9
At Brear @ st #491 2 2 7 222

Explain all the factors affecting the ionization

energy with example.

IEETOT e AGAIET Soll B gHGT FAA ard qH I
HITEHT I FTET BT |

Explain the following with example :
(1) Hund’sRule

(ii) Aufbau Principle

T gieq FrEfatad # arEn i ¢
(i) &%= @ |

(i) %S T |
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Section—III :
gus-111

Using VSEPR theory, explain the structure
of : 4,2
(1) Ammonia
(i1) Water
VSEPR =it &1 SUaIMT &id g, =1 &l d@eee &l
el BT - 4,2
(1) o=
(i) o
Why dipole moment in :
iy L0
(i) BF,
Rt & Faega oot 4 g ®
@) CO,
(i) BF,

Explain all the factors affecting the Bond energy

with suitable example. 31
meﬁawﬁqﬁwﬁﬂmﬁmﬁw
B B AT BT ' 3,3
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Explain the magnetic behavior, bond order of

CO on the basis of M.O. diagram.

M.O. & & aeR W CO % =g e, 94 %9 Hl
] FIT |

Section-1V

gue-1V
Explain the order of covalent character among the
NaF, NaCl, NaBr, Nal using Fajan’s Rule.  2,2,2
e B e 1 3T %ed g¢ NaF, NaCl, NaBr, Nal
3 9 wead R & F9 B A sl 2,2,2
Explain the effect of increase and decrease of
pressure on Co-ordination Number with suitable
example.
TUgHRT JaTeTT Aed RS S W A & qeq qu 9o
% F9El P AT BT |

Give differences in between the different types of

Stoichiometric defect using suitable example.

TG IETETT FH ITA A gC wiHAie A & fafee
gt % 9 § A diTe |

\ ¥



(b)

91004

e 91004

Draw Born Haber Cycle for the formation of

CaClL,. 2,4
CaCl, 3 friior 3 frg A Sa¢ = s BT 2,4
Explain the type of unit cell, structure,
co-ordination number, radius ratio, nature of void
in/of NaClL

NaCl¥ /% 3% §9 % UK, 6, e g, Bear
T, RfeT & i P arer i |



